S ‘9134.3

0 5k b9 035 S5 09,5 Sy Sl Jool V oyleds (g2 o3

o oo i ) 152 5 st glesl GugSae slo b= b (s5lg0 020 90 5 S5 =)

JQL’“’ oo -V ‘\L’-") 2l $? CF° e DZ 9 Dl 6)‘9.0 Sgz0 99 JQLLA aS awd uL--’ (o

S9! Cawas |

* I

v @I Dl \l'il D2 i \l/iz

.AQQGAQUJ \) ISZgISl 8L~w‘ u"?—i’“" 6L° ul_,)}l_,d)&, °3-.’.°3°ﬁjJ5-’13—\'
Sail ooy « V (63559 IS 5Ly s p ogys 51 S50 s g 5Ldg (al
Jobes sgo | =V abayl, wol 0090 S D2 3 D1 (60 9930 g0 Jolao a5 suas L (o

+ VD1 -+ VD2 -
o
| P + D, D,




5ol bz sl sz g Ist ply nj S350 D2 g D1 slesgyo 4y by Is 51 () ¥
Is2 5 Is1 lo bz 5V 5y 2 1, VD2 5 VD1 (i D2 9 D1 sl 5525 s 90 5105

Ceod « 25LV =3V go0g Is2 = 5PA 5 Is1 = 0.1pA Jlaie 51 (o) oS awlxs
eSSy 3
+ VDl -+ VDg -

> —
- ¢ I D]_ D2

O S polie il sy 53l b > (J\)‘mbsals:5fA Sade sl Ko yo =Y
o eXponential 5 s Lo a5 >lg 0usS gy g 00ysl cawns V=15V EV =0

Sled G ] )0 g oS jasin |, 1 =V

AMA——
™| + R=u4K D,
—_—\

.dﬁ)si Cawds | (Vo) 3930w 90 g Vin=1+ Vs Sin(O)t) m)lo 3 e 4o (@)

(Vs « 1V)
+ Vo -
A >
* R = 4K D,




